Maths Assignment

Class -2
Chapter: Multiplication

Q1. Complete the following:-
Example- A pot has 4 flowers. 5 pots will have 20 flowers.
Addition form — 4+4+4+4+4 = 20

Multiplication form- 4x5 = 20

a) An autorickshaw has 3 wheels. 8 autorickshaw will have wheels.
Additional form-
Multiplication form-

b) A bunch has 7 keys. 5 bunches will have keys in all.
Additional form-
Multiplication form-

c) Adoll has 2 eyes. 4 dolls will have eyes.
Additional form-
Multiplication form-

d) A shirt has 6 buttons. 9 shirts will have buttons.
Additional form-
Multiplication form-



Q2. Multiplication using number line:-

Q3. Write down the tables of 6 to 10 in your rough copy and learn it.



